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m English

have been divided into three parts (a), (b), (c),
one of the parts may contain any ervor. Write
down the part of the sentences that has an
error. If there is no error mark (d) as your
answer.

16. I am not wealthy (a)/ so I cannot afford (b)/ to buy a
expensive car. (¢)/ No error (d)

17. In a fit of temper (a)/ he tore up a sweet letter (b)/
which his wife had written to him. (c)/ No error (d)

18. He used very inaccurate (a)/ language for (b)/he
knew no better. (c)/No error (d)

19. The interviewer asked me (a)/ if I know that
Kalidas was the greater (b)/than any other poet.
(c)/No error (d) .

Directions (Q. 20-22) : Select the word which
is most nearly the same in meaning to the word
in capital letters.
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20. COMBAT
(a) Fight (b) Quarrel
(c) Feud (d) Conflict
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23, ATTRACT
(a) Distract (b) Repel
(c) Reject (d) Reveal

24, SAGE
(a) Rogue  (b) Smob  (c) Egoist  (d) Fool

25. ADVANCE L
(2) Withhold (b) Restrain ‘I
(c) Defend (d) Retreat )
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Directions (Q. 16-19) The following sentences

21. SCANDEL
(a) Talk i (b) Silly notion
(c) Disgraceful action (d) Rumour
22, CONFIRM
(a) Venfy (b) Approve
(c) Ratify (d) Obtain

Directions (Q. 23-25) : Select the word which
is most nearly opposite in meaning to the word
in capital letters.
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